

## A PART-METRIC VARIANT OF NEWTON'S INEQUALITIES

KENNETH S. BERENHAUT AND AUSTIN H. JONES

(Communicated by C. P. Niculescu)

*Abstract.* This note gives a part-metric variant of Newton's inequalities. A particular case proved useful recently in the study of difference equations involving ratios of elementary symmetric polynomials.

### 1. Introduction

This short note provides a part-metric variant of Newton's inequalities. In particular, for fixed  $k \geq 0$ , consider the elementary symmetric polynomials,  $\{e_{j,k}\}$  in the  $k$  variables  $X_1, X_2, \dots, X_k$ , i.e.,  $e_{0,k}(X_1, X_2, \dots, X_k) = 1$  and

$$e_{j,k}(X_1, X_2, \dots, X_k) = \sum_{1 \leq i_1 < i_2 < \dots < i_j \leq k} X_{i_1} X_{i_2} \dots X_{i_j}, \quad 1 \leq j \leq k. \quad (1.1)$$

When the inputs are clear from the context, we may denote  $e_{j,k}(X_1, X_2, \dots, X_k)$  by  $e_j(X_1, X_2, \dots, X_k)$  or simply  $e_j$  for  $0 \leq j \leq k$ . Note that every symmetric polynomial can be written as a polynomial in elementary symmetric polynomials (see for instance [17] or [20]). For some further discussion on the importance of symmetric polynomials see for instance [14] and the extensive references in [10].

The well-known Newton's inequalities for elementary symmetric polynomials are the following.

**THEOREM 1.** (Newton's inequalities) *For fixed  $k \geq 1$  and  $\{S_i\}$  defined via*

$$S_i = S_i(X_1, X_2, \dots, X_k) = \frac{e_i(X_1, X_2, \dots, X_k)}{\binom{k}{i}}, \quad (1.2)$$

*we have for  $X_1, X_2, \dots, X_k > 0$  that*

$$\frac{S_0}{S_1} \leq \frac{S_1}{S_2} \leq \dots \leq \frac{S_{k-1}}{S_k}, \quad (1.3)$$

*with equalities in (1.3) if and only if  $X_1 = X_2 = \dots = X_k$ .*

*In addition, it follows that*

$$\frac{e_0}{e_1} < \frac{e_1}{e_2} < \dots < \frac{e_{k-1}}{e_k}. \quad (1.4)$$

*Mathematics subject classification* (2010): 26D20, 26C05.

*Keywords and phrases:* Newton's inequalities, symmetric functions, elementary symmetric polynomials, part-metric, difference equations.

See for instance [5], [6], [15], [18], [19] and [22] and the references therein, for further discussion and generalizations of Theorem 1.

In [3], the following theorem regarding convergence of positive solutions to rational difference equations was proven. The case  $i = k - 1$ , was proven in [9] (see also [7], [13], [8] and Section 4.5 in [11]).

**THEOREM 2.** *Suppose  $0 \leq i \leq k - 1$  and  $\{y_n\}$  satisfies*

$$y_n = \left( \frac{e_{i,k}}{e_{i+1,k}} \right) (y_{n-t_1}, y_{n-t_2}, \dots, y_{n-t_k}), \tag{1.5}$$

where  $t_l \geq 1$  for  $1 \leq l \leq k$ ,  $\gcd(t_1, t_2, \dots, t_k) = 1$  and  $y_{-s}, y_{-s+1}, \dots, y_{-1} \in \mathbb{R}^+$ , with

$$s = \max\{t_1, t_2, \dots, t_k\}. \tag{1.6}$$

*If at least one  $t_l$  is even, then  $\{y_n\}$  converges to the unique equilibrium*

$$c = \sqrt{\frac{i+1}{k-i}} = \sqrt{\frac{\binom{k}{i}}{\binom{k}{i+1}}}. \tag{1.7}$$

*Otherwise,  $\{y_n\}$  is asymptotically periodic with (not necessarily prime) period two.*

Instrumental in the proof of Theorem 2 in [3] was the following variant of Theorem 1.

**THEOREM 3.** *For  $X > 0$ , define the transformed value  $X^*$  via*

$$X^* = \max \left\{ \frac{X}{c}, \frac{c}{X} \right\}, \tag{1.8}$$

where  $c$  is as defined in (1.7), and suppose that  $X_1, X_2, \dots, X_k > 0$ . Then,

$$\left( \frac{e_i(X_1, X_2, \dots, X_k)}{e_{i+1}(X_1, X_2, \dots, X_k)} \right)^* \leq \frac{e_1(X_1^*, X_2^*, \dots, X_k^*)}{k}. \tag{1.9}$$

The part-metric or Thompson’s metric,  $p$ , on  $(\mathbb{R}^+)^r$  is defined for any  $X = (x_1, x_2, \dots, x_r) \in (\mathbb{R}^+)^r$  and  $Y = (y_1, y_2, \dots, y_r) \in (\mathbb{R}^+)^r$  via

$$p(X, Y) = -\log_2 \min \left\{ \frac{x_i}{y_i}, \frac{y_i}{x_i} : 1 \leq i \leq r \right\}. \tag{1.10}$$

For some recent work regarding global asymptotic stability which employ part-metric-type techniques see for instance [1], [2], [4], [12], [16], [23], [24], [25] and the references therein. From a part-metric perspective, it would have sufficed for the purposes in [3] to replace the inequality in (1.9) with the weaker

$$\left( \frac{e_i(X_1, X_2, \dots, X_k)}{e_{i+1}(X_1, X_2, \dots, X_k)} \right)^* \leq \max\{X_1^*, X_2^*, \dots, X_k^*\},$$

but the bound in (1.9) is stronger and somewhat more natural in the given context.

In the present paper, we will prove the following.

THEOREM 4. For  $X > 0$  and  $0 \leq i < j \leq k$ , define the transformed value  $X^*$  via

$$X^* = \max \left\{ \frac{X}{c}, \frac{c}{X} \right\}, \tag{1.11}$$

where

$$\begin{aligned} c &= c_{i,j} = \left( \frac{\binom{k}{i}}{\binom{k}{j}} \right)^{\frac{1}{j-i+1}} \\ &= \left( \frac{j(j-1)\dots(i+1)}{(k-i)(k-(i+1))\dots(k-j+1)} \right)^{\frac{1}{j-i+1}}, \end{aligned} \tag{1.12}$$

and suppose that  $X_1, X_2, \dots, X_k > 0$ . Then, for  $0 \leq h \leq i$ ,

$$c \frac{S_h}{S_{j-i+h}}(X_1^*, X_2^*, \dots, X_k^*) \leq \frac{e_i}{e_j}(X_1, X_2, \dots, X_k), \tag{1.13}$$

with equality if and only if  $X_1 = X_2 = \dots = X_k = c$  when  $0 \leq h < i$ , and if and only if  $X_1, X_2, \dots, X_k \geq c$  when  $h = i$ . Similarly, for  $0 \leq h \leq k - j$ ,

$$\frac{e_i}{e_j}(X_1, X_2, \dots, X_k) \leq c \frac{S_{j-i+h}}{S_h}(X_1^*, X_2^*, \dots, X_k^*), \tag{1.14}$$

with equality if and only if  $X_1 = X_2 = \dots = X_k = c$  when  $0 \leq h < k - j$  and if and only if  $X_1, X_2, \dots, X_k \leq c$  when  $h = k - j$ .

Since, by Theorem 1,  $S_a/S_{a+h} \leq S_{a+1}/S_{a+h+1}$  for  $(a, h)$  satisfying  $a, h \geq 0$  and  $a + h + 1 \leq k$ , we have the following corollary.

COROLLARY 1. Suppose the hypotheses of Theorem 4 are satisfied, and set

$$D_{a,b}^* = \frac{S_a}{S_b}(X_1^*, X_2^*, \dots, X_k^*), \tag{1.15}$$

for  $0 \leq a, b \leq k$ . Then,

$$D_{0,j-i}^* \leq D_{1,j-i+1}^* \leq \dots \leq D_{i,j}^* \leq \frac{e_i}{ce_j} \leq D_{k-i,k-j}^* \leq D_{k-i+1,k-j+1}^* \leq \dots \leq D_{j-i,0}^*, \tag{1.16}$$

In particular, since (see Lemma 1, below),

$$D_{j-i,0}^* \leq (\max\{X_1^*, X_2^*, \dots, X_k^*\})^{j-i}, \tag{1.17}$$

$$c \left( \min_{1 \leq t \leq k} \left\{ \frac{X_t}{c}, \frac{c}{X_t} \right\} \right)^{j-i} \leq \frac{e_i}{e_j} \leq c \left( \max_{1 \leq t \leq k} \left\{ \frac{X_t}{c}, \frac{c}{X_t} \right\} \right)^{j-i}. \tag{1.18}$$

For inequalities similar in type to that in (1.18), see for instance [24] and the references therein.

Note that the constant  $c = c_{i,j}$  as defined in (1.12) is the unique equilibrium for the equation

$$y_n = \left( \frac{e_{i,k}}{e_{j,k}} \right) (y_{n-t_1}, y_{n-t_2}, \dots, y_{n-t_k}), \quad n \geq 0. \tag{1.19}$$

Theorem 4 leads to the following extension of Theorem 3.

**THEOREM 5.** *For  $X > 0$  and  $0 \leq i < j \leq k$ , define the transformed value  $X^*$  via (1.11). Suppose that  $X_1, X_2, \dots, X_k > 0$ . Then, for  $0 \leq h \leq \min\{i, k - j\}$*

$$\left( \frac{e_i(X_1, X_2, \dots, X_k)}{e_j(X_1, X_2, \dots, X_k)} \right)^* \leq \frac{S_{j-i+h}(X_1^*, X_2^*, \dots, X_k^*)}{S_h(X_1^*, X_2^*, \dots, X_k^*)}, \tag{1.20}$$

with equality if and only if  $X_1 = X_2 = \dots = X_k = c$ .

In the next section, we will prove Theorem 4.

### 2. Proof of Theorem 4

In this section we will prove Theorem 4. Essential to the proof will be the following elementary lemma which follows directly from Theorem 1.

**LEMMA 1.** *The ratio  $R = R_{i,j}$  defined via*

$$R(X_1, X_2, \dots, X_k) = \frac{e_{i,k}(X_1, \dots, X_k)}{e_{j,k}(X_1, \dots, X_k)}, \quad 0 \leq i < j \leq k \tag{2.1}$$

is decreasing in each of its arguments.

*Proof.* The lemma clearly holds if  $i = 0$ . Otherwise, we have

$$\begin{aligned} R(X_1, X_2, \dots, X_k) &= \frac{X_k e_{i-1,k-1}(X_1, \dots, X_{k-1}) + e_{i,k-1}(X_1, \dots, X_{k-1})}{X_k e_{j-1,k-1}(X_1, \dots, X_{k-1}) + e_{j,k-1}(X_1, \dots, X_{k-1})} \\ &= \frac{X_k e_{i-1,k-1} + e_{i,k-1}}{X_k e_{j-1,k-1} + e_{j,k-1}}. \end{aligned} \tag{2.2}$$

Hence

$$\begin{aligned} \frac{dR}{dX_k}(X_1, \dots, X_k) &= \frac{e_{i-1,k-1}(X_k e_{j-1,k-1} + e_{j,k-1}) - (X_k e_{i-1,k-1} + e_{i,k-1})e_{j-1,k-1}}{(X_k e_{j-1,k-1} + e_{j,k-1})^2} \\ &= \frac{e_{i-1,k-1}e_{j,k-1} - e_{j-1,k-1}e_{i,k-1}}{(X_k e_{j-1,k-1} + e_{j,k-1})^2} \\ &= \frac{e_j}{e_i} \left( \frac{e_{i-1}}{e_i} - \frac{e_{j-1}}{e_j} \right) \\ &= \frac{e_j}{(X_k e_{j-1,k-1} + e_{j,k-1})^2} < 0, \end{aligned} \tag{2.3}$$

by (1.4), and since  $R$  is symmetric in its arguments, the result follows.  $\square$

We are now in a position to prove Theorem 4.

*Proof of Theorem 4.* We need to show that for fixed  $0 \leq r \leq k$  and all positive  $X_1, X_2, \dots, X_k$  satisfying

$$X_1, X_2, \dots, X_r \geq c \text{ and } X_{r+1}, X_{r+2}, \dots, X_k \leq c, \tag{2.4}$$

$$Q_1 \stackrel{\text{def}}{=} \frac{S_{j-i+h}}{S_h} \left( \frac{X_1}{c}, \dots, \frac{X_r}{c}, \frac{c}{X_{r+1}}, \dots, \frac{c}{X_k} \right) - \frac{1}{c} \frac{e_i}{e_j} (X_1, X_2, \dots, X_k) \geq 0 \tag{2.5}$$

and

$$Q_2 \stackrel{\text{def}}{=} \frac{S_{j-i+h}}{S_h} \left( \frac{X_1}{c}, \dots, \frac{X_r}{c}, \frac{c}{X_{r+1}}, \dots, \frac{c}{X_k} \right) - c \frac{e_j}{e_i} (X_1, X_2, \dots, X_k) \geq 0. \tag{2.6}$$

To prove (2.5), note that by Lemma 1, for  $0 \leq h \leq k - j$

$$\begin{aligned} Q_1 &\geq \frac{S_{j-i+h}}{S_h} \left( 1, \dots, 1, \frac{c}{X_{r+1}}, \dots, \frac{c}{X_k} \right) - \frac{1}{c} \frac{e_i}{e_j} (c, \dots, c, X_{r+1}, \dots, X_k) \\ &= c^{j-i} \frac{S_{j-i+h}}{S_h} \left( \frac{1}{c}, \dots, \frac{1}{c}, \frac{1}{X_{r+1}}, \dots, \frac{1}{X_k} \right) - \frac{1}{c} \frac{e_i}{e_{i+1}} (c, \dots, c, X_{r+1}, \dots, X_k) \\ &= c^{j-i} \left( \frac{S_{k-(j-i+h)}}{S_{k-h}} (c, \dots, c, X_{r+1}, \dots, X_k) - \frac{1}{c^{j-i+1}} \frac{e_i}{e_j} (c, \dots, c, X_{r+1}, \dots, X_k) \right) \\ &= c^{j-i} \left( \frac{S_{k-(j-i+h)}}{S_{k-h}} (c, \dots, c, X_{r+1}, \dots, X_k) - \frac{S_i}{S_j} (c, \dots, c, X_{r+1}, \dots, X_k) \right) \geq 0. \end{aligned} \tag{2.7}$$

Similarly, for  $0 \leq h \leq i$

$$\begin{aligned} Q_2 &\geq \frac{S_{j-i+h}}{S_h} \left( \frac{X_1}{c}, \dots, \frac{X_r}{c}, 1, \dots, 1 \right) - c \frac{e_j}{e_i} (X_1, \dots, X_r, c, \dots, c) \\ &= \frac{1}{c^{j-i}} \left( \frac{S_{j-i+h}}{S_h} (X_1, \dots, X_r, c, \dots, c) - c^{j-i+1} \frac{e_j}{e_i} (X_1, \dots, X_r, c, \dots, c) \right) \\ &= \frac{1}{c^{j-i}} \left( \frac{S_{j-i+h}}{S_h} (X_1, \dots, X_r, c, \dots, c) - \frac{S_j}{S_i} (X_1, \dots, X_r, c, \dots, c) \right) \geq 0. \end{aligned} \tag{2.8}$$

The statements regarding equality follow upon noting that, by Lemma 1, the first inequality in (2.7) is strict unless  $X_1, X_2, \dots, X_r = c$ , and by Theorem 1, the final inequality is strict unless  $X_{r+1}, \dots, X_k = c$  or  $h = k - j$ . A similar argument applies to the inequalities in (2.8), and the theorem follows.  $\square$

## REFERENCES

- [1] K. S. BERENHAUT, J. D. FOLEY AND S. STEVIC. The global attractivity of the rational difference equation  $y_n = 1 + \frac{y_{n-k}}{y_{n-m}}$ . *Proc. Amer. Math. Soc.* **135** (2007), no. 4, 1133–1140.
- [2] K. S. BERENHAUT, J. D. FOLEY AND S. STEVIC. The global attractivity of the rational difference equation  $y_n = \frac{y_{n-k} + y_{n-m}}{1 + y_{n-k}y_{n-m}}$ . *Appl. Math. Lett.* **20** (2007), 54–58.
- [3] K. S. BERENHAUT AND A. H. JONES. Asymptotic behavior of solutions to difference equations involving ratios of elementary symmetric polynomials. In press, *Journal of Difference Equations and Applications* (2010), 15 pages.
- [4] K. S. BERENHAUT, AND S. STEVIC. The global attractivity of a higher order rational difference equation. *J. Math. Anal. Appl.* **326** (2007), no. 2, 940–944.
- [5] P. S. BULLEN, *A dictionary of inequalities*. Pitman Monographs and Surveys in Pure and Applied Mathematics, **97**. Longman, Harlow, (1998).
- [6] P. S. BULLEN, *Handbook of Means and their Inequalities*, Mathematics and its Applications (Dordrecht), vol. **560**. Kluwer Academic, Dordrecht (2003)
- [7] R. DEVAULT, G. LADAS, AND S. W. SCHULTZ, On the recursive sequence  $x_{n+1} = A/x_n + 1/x_{n-2}$ . *Proc. Amer. Math. Soc.* **126** (1998), no. 11, 3257–3261.
- [8] H. EL-METWALLY, E. A. GROVE AND G. LADAS, A global convergence result with applications to periodic solutions. *J. Math. Anal. Appl.* **245** (2000), no. 1, 161–170.
- [9] H. EL-METWALLY, E. A. GROVE, G. LADAS AND H. D. VOULOV, On the global attractivity and the periodic character of some difference equations. On the occasion of the 60th birthday of Calvin Ahlbrandt. *J. Differ. Equations Appl.* **7** (2001), no. 6, 837–850.
- [10] M. EL-MIKKAWY AND TOMOHIRO SOGABE, Notes on particular symmetric polynomials with applications. *Appl. Math. Comput.* **215** (2010), no. 9, 3311–3317.
- [11] E. A. GROVE AND G. LADAS, *Periodicities in Nonlinear Difference Equations*, Chapman & Hall/CRC Press, Boca Raton (2004).
- [12] N. KRUSE AND T. NESEMANN, Global asymptotic stability in some discrete dynamical systems. *J. Math. Anal. Appl.* **235** (1999), no. 1, 151–158.
- [13] G. LADAS, Open problems and conjectures, *J. Differential Equations Appl.* **4**, No. 3 (1998), 312.
- [14] I. G. MACDONALD, *Symmetric functions and Hall polynomials*. Second edition. With contributions by A. Zelevinsky. Oxford Mathematical Monographs. Oxford Science Publications. The Clarendon Press, Oxford University Press, New York, 1995.
- [15] C. P. NICULESCU, A new look at Newton's inequalities. *JIPAM. J. Inequal. Pure Appl. Math.* **1** (2000), no. 2, Article 17, 14 pp.
- [16] C. P. NICULESCU AND I. ROVENȚA, The existence of a global attractor for a class of rational maps. *Ann. Acad. Rom. Sci. Ser. Math. Appl.* **1** (2009), no. 2, 215–227.
- [17] H. POLLARD AND H. G. DIAMOND, *The theory of algebraic numbers*, 2nd ed., Carus Mathematical Monographs, Number 9, Mathematical Association of America, Washington, D. C., 1975.
- [18] S. ROSSET, Normalized symmetric functions, Newton's inequalities and a new set of stronger inequalities. *Amer. Math. Monthly* **96** (1989), no. 9, 815–819.
- [19] S. SIMIC, A note on Newton's inequality. *JIPAM. J. Inequal. Pure Appl. Math.* **10** (2009), no. 2, Article 44, 4 pp.
- [20] I. STEWART, *Galois Theory*. Third edition. Chapman & Hall/CRC Mathematics. Chapman & Hall/CRC, Boca Raton, FL, 2004.
- [21] T. SUN AND H. XI, The periodic character of the difference equation  $x_{n+1} = f(x_{n-l+1}, x_{n-2k+1})$ , *Advances in Difference Equations* Volume 2008 (2008), Article ID 143723, 6 pages.
- [22] JIANHONG XU, Generalized  $\lambda$ -Newton inequalities revisited. *JIPAM. J. Inequal. Pure Appl. Math.* **10** (2009), no. 1, Article 19, 8 pp.

- [23] X. YANG, Global asymptotic stability in a class of generalized Putnam equations. *J. Math. Anal. Appl.* **322** (2006), no. 2, 693–698.
- [24] X. YANG, F. SUN AND Y. TANG, A new part-metric-related inequality chain and an application. *Discrete Dyn. Nat. Soc.* 2008, Art. ID 193872, 7 pp.
- [25] X. YANG, M. YANG AND H. LIU, A part-metric-related inequality chain and application to the stability analysis of difference equation. *J. Inequal. Appl.* 2007, Art. ID 19618, 9 pp.

(Received October 24, 2010)

*Kenneth S. Berenhaut*  
*Department of Mathematics*  
*Wake Forest University*  
*Winston-Salem, NC 27109*  
*e-mail: berenhks@wfu.edu*

*URL: <http://www.math.wfu.edu/Faculty/berenhaut.html>*

*Austin H. Jones*  
*Department of Mathematics*  
*Wake Forest University*  
*Winston-Salem, NC 27109*  
*e-mail: joneah6@wfu.edu*